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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? Hﬁﬂ?lﬁ H fog yeR &1 m 'eﬁ'cﬁ %?
1. Naturalist/ Gepidardr

2. Spatial/ FAT{A®

3. Interpersonal / 3ddAhd

4. Bodily-kinesthetic/ STRING-31fdd (disch-Hrasdfes)

Correct Answer :-

. Spatial/ ¥UTfAH

2) is the method that studies growth by observing and measuring the same individual for

a variable period, during his/her growth / agﬁﬁ:%ﬁmﬁﬁw%ﬁwﬁ
g%aﬂ; T URad-TRie Jafy F RIT TH iR BT Y&rvr AR WU B U ST
ST g

1. Mixed Method/ TR & fafer

2. Longitudinal Growth/ 3-]%%‘2:& ?{@'

3. Cross Sectional Growth/ I 3-1?3’341711'5[ faepra
4. Extended Method/ faeaiRa fafar

Correct Answer :-

+ Longitudinal Growth/ 3-]7-@"&& q@'

3) Success is most crucial in school performance because it helps the child / ﬁ?]'l?fq % u'c{szh ﬁ,

G adl a4 Teaql & TP 39 79 &1 = o wee fredt 8:

1. show his knowledge over other students / 31=d D131 & JHE (U= JT BT U=
2. passing the examination / 18T I BT

3. winning Prize /| GX¥HR IR



4. feel more Confident about learning / 3{TERTH & ey 7 3P Iy Hed hRAl

Correct Answer :-

« feel more Confident about learning / 3TRTH o Taey T 31 STy HeqH Al

4) Infants at an early stage are highly ./ URTA® JaEaT & fﬂ'{[ ki R i i
1. Extravert / aﬁ:ﬁ@

2. Unselfish / f@Eare

3. Egocentric / Tdchicgel

4. Altruistic / GRITeRTE

Correct Answer :-

» Egocentric / Tdhicad

5) Conventionally, how many types of needs are explained in Maslow’s theory? / TRUR® &7 &,
ATEA! & RAgyuia 7 fraat R A raegwant # aita fmar = 82

1.2
2.6
3.5

4.3

Correct Answer :-

6) An extrovert child would:/ T&H a’%’«ﬂ@ =T AT gem:

1. Tend to think things through inside your head./ 3TUch 3TdRe ATCTSh & i ot Uqgd |
2. rather just observe./ dfed A% fAdreTor Y|

3. Think more and talk less./37T%® ida 3R ara<dia & &Y

4, Like to be in a fast-paced environment./?‘ﬂ_d QIdTaRo | el UG P

Correct Answer :-

« Like to be in a fast-paced environment./?‘ﬂ_d dldldrU] ff el LR-id ﬁl



7) The term personality has been derived from / ‘Saf@dea’ (TH=ITEY) s & foer & fom arw
LR

1. None of the above /30'23?5 H I PIg AET
2. Greek / ATl

3. Latin / oifee

4. German / ST

Correct Answer :-

. Latin/offea

8) The assessment results from personality based projective tests are J sgfFdca raia
AT e ¥ Aediwd & qRomH gl

1. Foolproof/ &IcT
2. Controversial/ TJdTerEye,

3. Futile / <Y

4. Objective / TEIIAE

Correct Answer :-

« Controversial/ TddTEEue

9) The child worries almost everyday about getting hurt. This is because of ./ T @ AT
e F aR F aenrer wfafeer fRar g ¥ swer FRor gl

1. Autism / TTelaTdr (3fifesa)

2. Attention Deficit Hyperactivity Disorder / €ITTHTd Ta 3faafhadr faeR
3. Anxiety Disorder / IEGIREEIEY

4. Learning Disability / 31TQ9TT 378737

Correct Answer :-

« Anxiety Disorder / Iar faoR

10) Which of the following is not an individual difference likely to affect learning? / fA=faf@a &
¥ FleT @1 tF AP Hax A & A FHEa: JIH F gAIfAT FT Thar §?



1. Body mass / SRR GeIATA
2. Intelligence / WFIT

3. Experience / 3eJHd

4. Motivation / 31TAUROT
Correct Answer :-

« Body mass / I GIATA

11) Which of the following is a personality test created by Cattell? / AFafaf@a & & &l @r
Fed gaT IR AT a1 swfFaca adamor §?

1. Sentence Completion Test / dTFd E[Uﬁ?ﬂ adreTor
2. NEO-FFI / TAS31T-THUH3TS

3. Sixteen Personality Factors Questionnaire / H\Ioie cgihcd dREG Usael (RRaaéa qaAT e
e FIRJMAARIR)

4. Locus of Control / fAIF0T &1 f&prar (Shd 3T Ei@?'r)

Correct Answer :-

« Sixteen Personality Factors Questionnaire / H\Iei‘é fthed PR UsTdel (Raada gdanfed!
thered FIATATIR)

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is

./ T gar qdeT &, R cafFa F safasy i sgafeurat fr asmaanst &1 FE
LU CLC SN

1. a probability/ T FHTIAT
2. a certainty/ Teh fATRIdar
3. a question/ Tch UH

4, an assumption/ Tch YROT

Correct Answer :-

« a probability/ T GHTGAT

13) Moving from examples to generalization is: / 3ETE0T & FHATFIIRIOT &Y 3T Croi) e
1. Correlation / O&-GaeT



2. Inductive / JTITHAATHD
3. Incidental / 31ThTEHD
4. Deductive / [AITHATCHD

Correct Answer :-

o Inductive / JTITHAICHSD

14) Bandura believed in Reciprocal Determinism. This means that: / EI'§TT IREIR® Agdare &
fareara &3 A1 sweT Y §:

1. The environment and one’s behaviour cause each other. / GRALT 3 fohdr T <gdel U?-F-E@')C &
PROT JeIdT &l

2. One’s environment causes one’s behaviour. / foh&T @I TRALY, fhaET & TTaER & PRUT TAdl %I

3. One’s environment remains unaffected by one’s behaviour. / {8l & cgagr & forely @1 aRaer
HYATTIT ol &

4. One’s behaviour is independent of one’s environment. / fopdT T <Jde, Y & gRaer O Tads

Tl

Correct Answer :-

« The environment and one’s behaviour cause each other. / GRA 3T fhdT &r IdeR UEF-E‘@'Q' Gil
PROT IAT &l

15) Memory is measured by the method of / Wﬁf # e [{AfY I AT JmEar &
1. Reproduction (recall) / Gei®cUigel (Repicl ATl TG &)

2. Interview / HI&TchRR

3. Observation / 3Tdclidhe

4. Experimentation / T

Correct Answer :-

« Reproduction (recall) / Jei®curge (Reblel ATAT AT )

16) What is the term used to describe the negative attitudes that people have towards an individual

based on their sex? / THRIcHF TREHIVIT FT Iuid A & AT FT 9 F1 39A9T I Smar
2, O e 3aF @ & 3mur W Fd safFa F e Fa 2

1. Patriarchy / U&=



2. Gender roles / ST fHpIT
3. Sexism / foOTdE
4. Socialization / HHATSIHIOT

Correct Answer :-

« Sexism / TolTHE

17) What is the term that Piaget used to describe imitation carried out with parts of the body that

one cannot see? / 98 Usc FAT ¢ fOWHT 3TN NI F IR & 39 gwwt & gy A 7
dhd & qUIT o F v fFam &, Og F§ 3@ 781 Thar &2

1. Invisible imitation / 37€T chel
2. Spatial imitation / ¥UT{A® Fhel
3. Visible imitation / GUART Fehel
4. Model imitation / HAISeT el

Correct Answer :-

« Invisible imitation / 3€T ochel

18) One’s heredity is determined at the time of ./ m%m FHAT W
futfa Hrarcd 21

1. Maturity / GRUeFadT

2. Conception / ITIIOT

3. Growth / Ta&ra

4, Birth / SleH

Correct Answer :-

« Conception / ITHIOT

19) Counselling involves / qTAeT # enfArer axar 2l

1. consultation and interchange of opinions between counsellor and the individual / CRIIIQiaI(‘II G'ﬁ? 5&% és aﬂ%{
faRY &1 sfeM-UeM 3R R

2. advice from counsellor to the individual only / thddl <IRh Pl THAJSAT & Tl ol



3. problem sharing by the individual with the counselor only / dhael WRIAFSIAT & AT Th gRT
A gl Ll

4. schools identifying issues with children with needs / SR dTel dTdl & ATY 'cg%ff Fr ggard A
arel faarera

Correct Answer :-

« consultation and interchange of opinions between counsellor and the individual / l‘NIJ-I-‘%‘I‘QI('II G?R OHfOTd %

i foaRl &1 SeM-ue™ 3R URTHR

20) Vocational training to persons with locomotor disability is more related to domain. /
AP feeamTar arer cafFaat &1 sgaarRs giraor AT ¥ e Fafaa g

1. cognitive / TATATCHD
2. none of these / 370 & IS &l

3. affective / THTAT

4. psychomotor / TTSPIAICT
Correct Answer :-

« psychomotor / TATSHIATEI

21) Social learning theory was proposed by: / ¥THTISIE 3FfeTA fAgHTd $o1d garT wFdriad
o o am:

1. Freud / WIS

2. Bandura / EIW
3. Skinner / e
4. Pavlov / UTdelld

Correct Answer :-

« Bandura / EE{{T

22) Socially immature students are known as students. / GTATISS & & 3qRgaa o
£l Bl F T F AT I B

1. Dependent / T8N

2. Alienated / 37eldT-UcTdT



3. Phantom / 381"
4. Social / GTATT SR

Correct Answer :-

« Dependent / IGE-TY

23) Social knowledge is obtained through from other people. / 3eq e & &
ATLTA § IHATTSS A Iod fFar srar gl

1. Feedback / ufafsrar (Hrsd®)
2. Discouragement / EdicaTed

3. Encouragement / UicaTed

4. Logic /T (difSid)

Correct Answer :-

« Feedback / gfaferar (drsdd)
24) According to Gardner, spiritual intelligence is / IMSAT & AR, JTeATfcHS mﬁT CH

1. the ability to perform transformations on one’s initial perceptions / fRdT Pr URTH® UROM3N
aRada e &Y &THdT

2. the ability to contemplate big questions about the meaning of life / Sde & 32T & TIYT A
Stfeel FHETHT W IR aea hr &Tda

3. the ability to make distinctions in the natural world / YT ?ﬁ-PJIT # fafe P H A

4. the knowledge of one’s own strengths, weaknesses, desires and intelligence / 370ait Tad &1 AfRhAI,
BHAN NN, FTor3l IR gigH &1 A
Correct Answer :-

« the ability to contemplate big questions about the meaning of life / SHdel & 32T & I H
STfeel AT WX faaR el & T

25) Formative assessment is: / WW%‘

1. A process that does not involve value judgement /wuﬁvmmﬁmﬁ RO (ﬂchj SSTHE)
3T A& &

2. Performed by evaluating student learning by comparing with a benchmark/ma?magﬂma?{
BT HTAIH & HedTeha gRT FohdTlead fhar ST g



3. Used for rating the learner through high-point valuation / 3@-®ifc Jedie & A1y § Rrenff (@) ot
et Rufid H & foe Iuai fasan e |

4. Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner /

fR187eh & forw 3TeucR ameyE & Fifes g FRIaTT (e1eX) & 907 3R ST Y STt 7 A 8 X ¢

Correct Answer :-

« A process that does not involve value judgement / Teh UTehaT forga 3Me el YoM (deg Sietee)
MTf3rer A€ &

26) The role of the teacher in a progressive education is that of a / T yarfaefier fram & e
& TEH HAFT B

1. Disciplinarian / 37c[RTTHD

2. Instructor / UfRI&TH

3. Guide / HAMIGYH

4. Lesson planner / UTS JTSTATRIR

Correct Answer :-

« Guide / HAMEH

27) According to research, peer-assessment is valuable because / Qﬁﬁra"iﬂﬂ'ﬂﬂ, mw
HedaTT ¢ F4ifH

1. it encourages competition among the students / IJ& STa1 & drag gfaeadl & Gicaried didl %’I

2. pupils may accept feedback from one another on their work / 13 3T HH R Uh W |
gfaforar o &R 9hd g

3. students know their rank in the class /ST &Il & 370t ¥eb STTad &

4. it reduces workload for teachers to assess the students / & GIEIR:2 W *® 1%111 ﬁl&[ablf & B
ST D1 HH HRAT

Correct Answer :-

 pupils may accept feedback from one another on their work / S1H 304 HTH TR Th Qﬂi |
gfaforar o &R 9ahd g

28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive
behaviors including aggressiveness, destruction of properties and non-compliance in the classroom is?



/ fSart, UdeH, A, 9 Ue e (2004) & YR, BT H AT, TUTLHT BT fa=mT
3R IR-3uTe Ifed fIaeTadR! TAGR B FH HI1 &1 TP TUE! J1eq =1 82

1. Time —out (TO) from positive reinforcement / HPRTcHD ﬁ'&"cﬁEBTUT q TIBH-3M3C (E131)
2. Time —out (TO) in the classroom / HET H TBH-3T3C (E131)

3. Corporal punishment / TRIR® &8

4. Detention / faRIer

Correct Answer :-

« Time —out (TO) from positive reinforcement / HDRTcHh H_%élEFIUI q TEH-AT3C (8131

29) Sometimes, children are dissimilar to both the parents. This is because of the Law of ./

sl-sfl =, Aa-Rar e AemmeR It S Faud orugarsl
1. Segregation / GTFhOT

2. Variation / fafaerar

3. Dominance / Y3cd

4. Regression / TTqITHA

Correct Answer :-

« Variation / fTafaear

30) In Sternberg’s theory of intelligence, which of the following steps involve finding a solution to the

problem? / T&Aa3 & Fefrerar & fguia A, eafafla # @ frw =vor 7 worea &1 gamewe aa
T AR 82

1. Application / 31U (TTAHIhI)
2. Mapping / afafe=or (#Tar)

3. Encoding / Hdhcld (SIepifaar)

4. Response / Ufaferar (Reui=q)

Correct Answer :-

« Response / Ufaferar (Reui=g)

Topic:- General Hindi (L1GH)



1) PRI Y T8 Tl 6 IR BT ART T TG 7411 FEIG TRRT TR FA-a el g5 P, bR & Bie-vie Yar
79 3R g HEHelt W | fras Yar 8 AR o1 urdt| g8 4| U & 91 U 99 WIH USd 3, Ble-BIe UgTs!
STHEM, maﬁmﬁaﬁ?mﬂ FHt HRA a1 I/ FRA a1t 1) el R 99 g YA | FHi-agl A5 Ao dis &
STl | ot A1 -0, FW R I g5 FHdeh o ard eR- T W eiR-<R v Tl W 7@ o
IRAT GETAT AT 3R I YBTaE & qIG SABT JETa-Tu+1 g0 ot dsTer I+ 387 YT | IR i-s41 o 3t 9 <&t o,
BUR 74 § TP Seiia-Ht fART=m St o1 8 A1 3rE df 87 @R P & Aeidie €, DRIt 9 18 Hid 9d 3,
P Rk o8 Wi 3, R Tl 41 98 Sigfera Higd, 98 W1g ol ST & a1 | AT 1T AT 1 3T THY W TP
ARl 7 we1 T % FR & gorad § I St A ifte dier 8, i <ft F gt srmrafa g forar ar ok
Tl U1 for faeoRds &1 sy S | 81 a1 81 3 At °rdl, @, Tia Wex &, frg sa-i U= & ayw ot =18t
2 21 59 FW-F 2 3o W 3o oft A suad it we @ SR Sui-sal Sl Aeidie St T, - ord,
fipe Sy 3R 3fd ¥ af &Y TR Te¥ W, AP 3T Yo ot &1 o gfafspar A gart 37 yra=nsi v, a8
wree 8 81 uran, Rl 3 fAagpa gu A1 9eH1 59 7 TS 959 @a1 Ais forar iR erd W e wift

THZaR &1 91ét & IR A o) St udanran B, 39 W, fAaga Rrer w, S1ar! 1 gom 81 Siam! F galt iR
fipY 2T 3= B STl B 1 PRI & 312 W SIHR 99 1| BIel-91, Napd I9s1-91 71d 3R 9% &1 df &) 7
fr=m =8| faaea a7 7T 0 @1 faeT f@=1 31 &1 3FTd 3T 99 9 IaRT fb W8T o1 a8t uR @) gfd-ar wsy
@ST ¥eT M| fraar R Wed faaRT o1 Jram @1 ardt #1 39 Har $ udaurer 3 oum d § 98 o deR
&1 fraft ardt v 31 8, Tud RreR 3R g € Y 9T IR B v e D a7 T, o) wEHet Sreet
U W, R e F1 RIATE Fred? 99 gU aTd-ar1d %, e fFR Jihg-ahe TRl 3t $aR 3R 3R-3R A
amamﬁmaﬁmﬁaaaﬁa%ﬁ-ﬁqﬁﬁlmﬁmuﬁm%'ﬁaﬁﬁmﬁw
FATs | dUe g, 3T A O G| AHTATT g9 TP ga? A § a3 | 5791 JPUR, a1 ez, a1 ol
B 3R a1 s de 6 @ 39 Rt WR @Y S IARSR, UTd Tio®= 3 9g-T Tnfeu|

IUYa TN F UEHR A D T YR HT S« a3t
U BEI 9 99 Ia & 916 IR $ T g T2
1. qAET

2. fedATer T
3. BIFTET
4. I

Correct Answer :-

2) HI | 99 Teft df I BT IRT TG 67 1| S TR TR FA-5d Bl g3 DI, fFR & B1e-8iI v
T 3R g¥ A A | fFa-t Fev 8 TRz Ft rdtl g8 U e F 91 TP a9 WA USd ¥, BIe-BIe UgTel
SHTEM, I B g™ R HIft-Hift FRA a1 ITH ARA arat 7 A1 W 91 g¢ 7| FEl-PEl e i e b
STl | ot A1 -0, S R I g8 e o ard eR-3 T W eiR-<fR v Tl i 7@ o
IRAT GETAT 4T 3R I YBTaE & qIG SABT JeTa-Tu+ g6 Ut dsTer I 38T T UR Si-S41 a7 3t 9 et o,
TR U9 A T 3roitg-3 A= o1t o 2@t f s @) g9 a1 P & a9idie §, PR ¥ 18 Ha ad g,
Frar Rid o8 Hid 8, W $81 T 98 Sigfed Higd, 9§ WIg o ST & a1 H AT SrdT 471 3T 999 W Th
Feahtt A el o1 {5 FR & goed & I Bt 1 iftre e 8, i off A ot srmafaa ahr R ot @ik
Tl U1 fr fgcoRds &1 sy S & € gar 81 3 7Y, urdl, |, i Yax €, frg ga+1 U= & Ay ot 1Y
g 21 59 FW-F 2 3o W 3o oft A saad it we @ SR S-Sl S Aedte St AT, - o,
fpe Ry 3R 3 ® qf &y gUR A8 W, e 37| Y[a ot &1 1 ufafar & gurdt 59 Hra=msi v, a8
wree g g1 uTan, Rl 3 fiagpa gu A1 991 99 1 TS 959 @91 s forr iR erd W e wift

TR &1 91ét & IR A oY St udanran B, 39 W, fAagpa Rrer wR, S1ar! a1 gom 81 Siam! 3 gost iR
fipY 21 3= B STl 31 PRI & 32 WR IR 9 @1 | BIel-91, Napd IWs1-91 719 3R 9% &7 af F) 7
fr=m =8| faaea a7 T g0 @1 fae i@ 31 &1 3FTd 3T 99 9 IaRT fob W8T o1 a8t Uk @) gfd-ar wsy
ST 38T M| fraar SR Wed faaRT o1 Jra= @1 rdt # | 39 HIAr $ udaurer 3 o od | 98 o FeR



1 1 f3ft a1t fisur 78 8, 39w fp=R ok ger € oY are ®va 811 varel Hia D) gg 91, 8¥ wEHe! SreEl
U W, R e B RIATE Fred? 99 gU aTd-ard %, e fFR Jibg-ahe TR 3t $aR 3R 3tR-3R A
3THT ATTH A IS ST aTelt 9a B AfSal-Al Afeat| 79 A SR g} 3mar P 59 9 B afa) & SoTH:
FATs | dUe g, TG A T G| G g9 TP ga? A A a3 | 3791 JPUR, a1 ez, a1 ol

B 3R a1 s d® 6 & 39 Rt WR @Y S IARSR, UTd To® 3 9g-T1 Tnfee|

ST TR B UgHR 19 IR T YA BT IR qa13¢I
w=: TR oft o P # e 3w ST ST giar uT?
1. GTATUT 375hTehT

2.9 T

3. Racoels

4. 849

Correct Answer :-

3) HI A 79 Telt G I BT URT TG Ted T S URRT IR FA-5d el g5 I, fFIR & S1R-81 =
779 3R g HEHelt W | frasit Yor 8 WAz o1 ardt g8 4| T & 91 TP 99 WY USd 3, Bie-BIe UgTs!
STHEM, T B g™ iR Fft-Hft St a1 3uH ARA ara 7 A1el W 99 §¢ g1 Fl-3d) gsd e S &
STl | ot A1 -0, W R I g5 e o ard seR-3 Tew W eiR-<R 9 el 5 7@ o
AT GETaAT AT 3R 3T YPbTae F TG IUBT GeTaAT gi ot dxTery 9971 ¥67 T WR S-S o 3R 9 8t <ft,
AR T4 A T Sreitg-3 fArrem o1t 51 7@t f s a) g9 a1 dar & a9l §, dRi S 18 Hia ad e,
Frar R 8 Hid 8, W $81 41 98 Sigfid Higd, 9§ W1g ol SITI & a1 H AT SraT AT 3T 999 W Th
ARl 7 we1 T {6 FIR & gorad § I8 St A ifie dier §, e <ft F gt srmmafay anr forar ar ok
Pl 4T P fRaeords &1 Uty HArT A 8 gar 21 A 7dY, a1, Wa, 7ia Yer g, fbg ga+ w=iar & ok ot 78
B 21 g0 -3l 3ruAT Txra 3 off | ored ft w2 @ SR i-sa P Aordte srmar wan, -t 3rdd,
e aRyaIy 3R 3 ® af &Y gUR A8 W, S 3MMaT| Y[a ot &1 41 ufafear & gurt 379 vra=msi =, a8
Tee g1 8 uran, T 3 faaepd gu A1 G891 99 7 U 954 o1 As R 3R e W g @t

THIZaR &1 91ét & IR A oY St udanran g, 39 W, fAaga RreR w, S1am! 1 gom g1 Siam! I golt iR
AR oTe 3= & Il B 1 I & 313 WR TR 99 I3 | Biel-41, fagpd Ios1-ar mid 3R T &1 at &l 7
= =8| faaea a7 e g9 @1 fae i@ 31 §| 3FaTd 3T 99 9 IaRT fob W8T o1 a8t uRR @) gfd-ar we
ST 8T M| fraar SR Wed foawT o1 Jmm= @1 urdt #1359 HIar 3t daurer 3 oue od | 98 o FeR
Pt 7 faht ardt four 36t 8, 3w fp=R ofik 9ar €1 @Y ary #=a 817 | v Wia DSt gg urdl, 3 awHel Hrei-l
U W, R e B RIATE Fred? 99 gU aTd-a1d 3%, e fFR Tihg-ahe TRl 3t FaR 3R 3IR-3R A
amsmﬁm.aﬁmaﬁaﬁa%ﬁ-@ﬁ?%ﬁlmﬁmuﬁm%'ﬁaﬁaﬁa@ﬁﬁw
FHATs | dUe g, TGl A T G| G g9 TP ga? A d a0 3¢ | a9 JPUR, AT ez, a1 Il
B3 3R 30T frspais fo @7 39 Rl WR o) 9fd IARPR, Uld NoH? 3T g¢-T1 a1

ITYE TR B UgH 19 YD T XA BT IR qa13¢I
w: T o A HT W e anT frar ur?

1. o1

2. T

3. PR

4, Feacsels



Correct Answer :-

4) DI A T T A I BT AR TG TG 1| G TR W $A-$ Bl §8 e, fFAR & Bie-DIe Gax
779 3R g HEHelt W | frast Yor 8 TARaR o1 rdt g8 4| U & 91 U 99 WY USd 3, Ble-BIe UgTs!
STHEM, irrqao"rgaaﬁaﬁ?awﬂ FHft HRA a1 39 R ard 71} el W 99 g U | FE-FE) e Mo ds &
Srat & TeRdt B -0, FW AR Tt gE FHdd die ardt seR-W Tsw W diR-oR T g6t 9 & ot
AT GRTaT AT 3R 3 YPbTae F qTe IUBT GeTaAT gi ot dx1er 9971 ¥67 T WR S-S o 3R 9 36 <ft,
BUR A9 # U 3rofia-3t fART=m o1t o1 38 <t 1 3ra &) 59 a1 P & Aeidie €, FIA T 18 i Td 3,
P R o8 Hid 8, IR S81 1 98 Sigfed Higd, 9§ WTg ol ST & a1 H AT SIraT AT 3T 999 R Th
TEanht A $71 U1 {6 FiR & goaa A 3= At A AR wigr 8, I it 7 a8l srrafad ahr forar ot iR
Pl 4T P fRaeords &1 Ut HArT A 8 giar 21 3 7dY, a1, @, 7ia Ger g, fbg ga+ w=iar & avg ot 78)
B 21 g0 F -3l 3ruAT Txrg 3o off | ored ft HA @ SR Si-sa P Aordte simar a, - 3rdd,
e SRy 3R 3 ® qf &Y gUR A8 W, Sad 3MMaT| Y& ot &1 1 ufafear & gurdt 39 vra=msi v, ug
e g1 8 uran, Fife 3 faaepd gu A1 G891 99 7 U 954 o1 Ais R iR erd W geq @l

THZaR &1 91ét & IR A oY St udanra 7, 39 W, [agpa Rrex wR, S1am! 1 gom g1 Siam! 3 golt iR
B oTe = &Y Il B 1 I & 313 WR TR 99 I3 | Biel-41, fagpa Ios1-ar mid 3R b &1 at &l 7
fr=m =8| faaea o7 T 0 @1 fae i@ 31 &1 3FTd 3T 99 A IaRT fob W8T o1 a8t uRR @) gfd-ar W
@ST ¥eT M| fraar SR Wed faaT o1 Jra= @1 ardt #1 39 Hiar $ udaurer 3 oue od | 98 o FeR
Pt 7 faht ardt four 336t 8, 3w fp=R ofik ger &) &Y ary #=a 817 | v Wia DSt gg urdl, 3R awHel Hre-l
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o foheax 3R Ter

5) HI A T Tl a) I T URT TG T6d T S URRT IR FA-5d Il g3 I, fFIR & S1R-81 Y=
M9 3R 8% HEHelt Wd | fFa-t Yo § TR o1 1| 58 ¥ TP & 918 U 99 WIH Usq ¥, Ble-BIe Ugrsl
SIHEM, I B g AR F-Hf Pt a1 3ud iR ara =) el R 99 gU ya | -3l Ao e fis &
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IRAT TG 4T 3R I YhTae & a1¢ YD1 YAy g doTery a7 38T AT | W SY-S0) 99 3 9¢ ¥at o,
TUR 99 A TP Srhg-t fARrn o1t o 3@ A1 3@ @ g9 @ P $ Aeidie 8, I A 18 Hia 99 g,

S R o8 W 8, 1 ®i ma1 98 Srgfira Hied, a8 wTg St ST & IR 7 AT o1l AT 1 31 77 N TP
TEanht A $g71 T {6 FiR & goaa A 3= st A AR oigr 8, I it 7 a8l srrafad ahr forar ur iR
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e Sy 3R 3fd H af &Y TR T} WR, AP 3T Yo ot &1 o ufafspar A gart 37 yra=nsi wr, a8
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fipY 2T = B STl 31 PR & 32 WR IR 9 31| BIel-91, Napd I9s1-91 7d 3R 9% &1 df ) 7
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g 3R g HEHelt W | frasit Yox 8 TARaR o1 ardt | g8 4| T & 91 U 99 W USd 3, Bie-Sic UgTs!
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9) HIft A I el dl I BT URT T TG TAT| oI TR W HA-Hd Bl g5 DI, fHAR F BIe-BIe Yav
Tiq 3R g HEHelt W | frasit Yox 8 TAzaR o1 ardt g8 4| T & 91 U 99 W USd 3, Bie-Sic UgTst
STHEM, I B g iR Fft-H it St a1 39d fARA a1 7Y A1el W) 99 §¢ Y| -3l T Ao S &
STl A ot A1 -0, I T el g3 SR s ard seR-H gee W - a7 el o 3
IRAT GRTAHT AT 3R I YBTae & q1¢ ISUBT YA g0 doTey a7 387 AT | IR Y-S0 97 oMl ¢ el o,
BUR A9 ¥ U 3oa-3t FART=m o1t o1 38} 21 3ra af g9 @1 St & Aoidie 8, HIRil J 18 Wi = 3y,
FIAF % B8 W 8, W el 741 98 Srfera Hied, I8 oiig ol S & T | AT oI1aT 471 3 T7g W 0P
AR = BgT YT {6 TR & goprad § I8 St A ifw digr g, e sft F 7 srmmafaa anr forar ot ok
FeT 4T ¥ fRaeords &1 smutd St d § glar 81 3 7dY, urdl, @4, M9 Ger 8, fbg 3o+ w=ian & avg ot 1)
2 81 g0 F -3l 3ruaT TR 3 Sff | e it wA @ SR S-S AT Aeidte Simar T, -t $rdd,
fpe SRidIy SR 3 & dt &Y TUR AR W, AP 31| Y& ot &1 Fa1 ufafsar 0 gurdt 39 vra=nsi =, a8
Tree 8 81 uran, {3 fAaepd gu A1 a1 99 7 TP 9gd da1 Ais forar 8 ard W e et

TR F U1t & IR | & St udauran 8, 39 W, aea Rew wR, S a9 gom g1 S S gadt iR
fipT o1 = B STl 81 DI & 33 W ATHR 99 31| Biel-1, Napd I9s1-11 7ia iR b F71 af Fal a4
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10) HIA VA T TeAl A I BT IRT TG 9 AT GSId TR W FA-Hd Pl g3 Ht, PR & se-sie
e 7T 3R &Y 7awel @ | fFal v & TR 3 ardt | 8 ¥ TP & 915 TP 99 VR USq ¥, Ble-Bie
TEIS STHEM, a1 Bt g R Flt-wft Fidt a1 3ud fiRA ard =) A1el R 99 g¢ 9| FE-wdl ded Ao
He & el J Tord A1 -3, Fw TR Vet g8 FHde fo ard seR- e w HiR-<R a3 T W @
2t | IRET GETIT AT 3R I UPTIC F q1E IHPT YTATGT g 2t 1oy S11 T8T 47| IR Si-wai} o7 ST g ¥t
A, TR 99 # T 3rofig-t A== o1t o 3 A1 3@ @ g9 I SR P A & I I 18 Wi I9 3,
Frar Rk o8 Wi 3, R Tl 41 98 Sigfera Higd, 98 W1g ol SIAT & a1 | AT 1T AT 1 3 THY W TP
et A Fe1 U1 i TR & goEa # 3= St A ifte wer @, ish ot 3 a8t ‘ermafay ahr forar ur ok
T 4T i fRaeords &1 smuta St §  giar 81 3 7dY, u1dl, W, 79 Gex 8, fbg ga+it w=ian & avg ot 18l
2 21 59 FW-F 2 3o TR 3o oft A suad it we @ SR Sul-sal S Aeidte St T, < -@f ord,
fipe Sy 3R 3fd ¥ af &Y TR Te} WR, AP M1 o ot &1 & gfafspar 4 gart 37 yra=nsi wr, a8
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THTaR &1 91ét & IR A oY St udanran B, 39 W, fAaga Rrer wR, S1ar! 1 gom 81 Siam! 3 gost iR
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11) HIA A T Tl G I BT IRT 2T 96 14T GSIA TR W FA-HA Pl g5 Hat, PR & se-sie
e 7T 3R g% 7aweh @ | fFal Yer & TR 3 ardt | 8 ¥ TP & 918 TP 99 VI USq ¥, Ble-Bie
TETS STHEM, a1 Bt g R Flt-wft Fidht a1 3ud A ard 71 A1el W 99 g¢ 9| FE-wdl aed Ao
He & sl d Tord f -0, IR R 1t g8 et dio I soR-W Tew w MR-t a9 Tt o 7@
2t | IRAT JETIAT AT 3R I YPTAC & F1¢ ITDT JeTa-Tu+ 7o t I51er 5971 ¥6T UT| R S9i-541 99 3F 9 [t
A, TR 99 H T 3rofig-t AR o1t o 3 A1 3@ 9 g9 I SIIET P Ao g, I I 18 Wi 99 3,
P Rk o8 Wi 8, R $1 41 98 Srgfera Hied, 98 W1g ol ST & a1 | AT 1T AT 1 3 THY W TP
Tganft A $g71 T {6 FiR F goaa A 3= St A AR wier €, i it 7 ad) srrafa ahr forar ur iR
T 4T i [RaeoRds &1 smuta St §  giar 81 3 7dY, urdl, W, 79 Gex 8, fbg ga+it w=ian & avg af =18l
2 21 59 FW-F 2 3o W 3o oft A suad ft we @ SR Sui-sal S Aeidte St T, - ord,
fipe Sy 3R 3fd H af &Y TR T} WR, AP M1 Yo ot &1 & gfafsear A gart 37 yra=nsh W, a8
wree 8 81 uran, R 3 fiagpa gu A1 9eH1 59 7 TS 959 aa1 Ais forar iR erd W e wift

THTaR &1 91ét & IR A oY St udanran B, 39 W, fAaga Rrer W, S1ar! 1 gom 81 Siam! 3 galt iR
fpY 21 Y= B STl 31 PRI & 32 W IR 9 31| BIel-91, Nagpd I9s1-91 719 3R 9% &7 af F) 7
fr=m =8| faaea a7 T g0 @1 fpae i@ 31 &1 3FTd 3T 99 | IaRT fob w18t o1 a8t Uk @) gfd-ar wey
@ST ¥eT M| fraar SR Wed faaT o1 Jram @1 ardt #1 39 Har 3 udaurer F oum d § 98 9 deR
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12) I A T Tl O I BT YRT 29 T 17| GSId TR W FA-Hd Pl g3 Hiat, PR & se-sie
e 7T 3R g% 7aweh B | fFa Yer & TR 3 urdt | &8 ¥ TP & 918 TP a9 VA USd ¥, Ble-Bie
TETSt STHEM, a1 Bt g R Flt-w 1t St a1 3d fiRA a1 71 A1el W 99 g¢ 9| $E-wdl ded Ao
He & el J Tord! A1 -3, W R Vet g5 FHde o ard eR-3 e W fiR-<R a9 Tl W @
2t | I FETIAT AT 3R IF YPTAC & 1¢ ITDT JeTa+Tu+ gH t I5Ier 591 ¥6T UTI R S9i-s491 99 W 9 [t
A, TR 99 # T 3rofig- AR o1t W 3 At 3@ @ g A Sl & Aeidie g P § 18 Wid T I,
P Rid 8 Hid 8, W $81 1 98 Sigfid Higd, 9§ W1g ol ST & a1 H AT SraT 471 3T 999 W Th
Feahtt A 1 o1 {5 FR & goed & I Bt 1 aiftre e 8, i off A ot srmafa ahr R ot @ik
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3R ATTH A IS S aTelt 9a B AfSar-Al Afeat| 79 A SR g} 3mar P 59 9 #) afa) &) SoT:
FATs | dUe g, TG A T G| G g9 TP ga) A § a3 | a9 JPUR, a1 ez, a1 ol

B 3R a1 s d® 6 & 39 Rt IR @Y @ IARSR, UTd Tio® M 9g-T1 T1feu|

ST TR Y UG 1 ID ¢ U P Sk aTse|
UL AP & A, AV 3T &ty W fras! ufafhar d@® & uar 78} 9ei?
1. 9l S

2. YFA Sl
3. {RAT S
4. T Hr

Correct Answer :-

13) SR T T Tl @ IR BT YRT €Y 96 AT G TRR| W HA-Hd Bl g5 ST, fFR & Ble-se
Yo T SR 3¢ TgHe W | fpa-t v 8 ThzaR 3t ardtl 78w e & 91 TP a9 wIHE UsSd ¥, Ske-sie
TETS! STHEM, a1 &1 g iR HUt-H 1l FRA a1 3uH iR ard 7} e W 99 g¢ qa | -3l o el
He & el J Tord! A1 -3, T TR Vet g5 FHddl o ard eR-3 e w fiR-<R a9 Tl W @
2| IRAT GETIT AT 3R S UPTIC F TG IHPT YETaAT0T g9 2t F5Ter F11 T8T 47| IR wi-wi} 7 ST g ¥t
A}, AR A9 # TP 3reiia-wft AR St o1 38 <A1 3T a9 g9 A P F AP 8, Pt A 18 Hie I 3Ny,
Frar i o8 Hid 8, IR S8 T4 98 Sigfid Higd, 9§ W1g ol ST & a1 H AT SIraT AT 3T 999 W Th
ARl 7 weT T T FIR & gorad § I8 St A ifie dier §, e <ft F gt srmmafas anr forar ar ok
Pl U ¥ fRaeords &1 muTd HArT A 8 gar 21 A 7dY, a1, @, 79 Yer 8, fbg ga+i w=iar & ok ot 78)
B 21 g0 Fi-3 il sruaT Txra 3 off | ared ft w2 @ SR ui-oa P Aordte simar a, -t 3rdd,
e 3Ry 3R 3 ® af &Y gUR AR W, S 3MMaT| Y[a ot &1 41 ufafear & gurt 39 yra=msi v, a8
Tee g1 8 uran, T 3 faaepd gu A1 G891 99 7 U 954 o1 As R 3R erd W geq @l

THZaR &1 91ét & IR A o) St udanran 7, 39 W, fAagpa Rex w, S1am 1 gom g1 Siam! I galt iR
AR oTe 3= & Il B 1 I & 313 WR TR 99 I3 | Biel-41, fagpa Ios1-ar id 3R Tt &1 at &l 7
= =8| faaea a7 T g9 @1 fae i@ 31 §| 3FTd 3T a9 9 IaRT fob W8T o1 a8t uRR @) gfd-ar we
ST 38T M| fraar SR Wed faa=T o1 Imm= @1 ardt #1 39 Hiar 3t daurer 3 o= od | 98 o deR
Pt 7 faht ard) four 76t 8, 3w fp=R oik ger €1 @Y ary #=a 817 | v Wia DSt g urdt, 3 awHel Hreil
T W, R 1 B RIATE Fred? 99 gU aTd-a1d 3%, o fFR Tibg-ahe TR 3t FaR 3R 3R-3R A
amsmﬁm.aﬁmaﬁaﬁa%ﬁ-@ﬁ?%ﬁlmﬁmuﬁm%'ﬁaﬁaﬁa@ﬁﬁw
FHATs | dUe g, TGl A T G| G g9 TP ga) A d a0 3¢ | a9 JPUR, AT ez, a1 ol

B 3R a1 s dd 6 @ 39 Rt WR Y 3 IARSR, UTd To® 3 9g-T Tnfee|

IUYE TR B UgH 9 YD T YA BT IR qa13CI
UH: AGF B Al B Mpia et wnftz

1. GUTHR

2. SrerdT SiET

3. 901 & Afsar-dr

4. FA-STHT



Correct Answer :-

« dol I wfsar-ar

14) DRIt & 8 Tl | T T HRT T TG 1| I GRRT R -5 Pl §5 DAY, f5R & BIe-sie
e 7T 3R g% 7aweh @ | fFal Yer & TR 3 urdt | &8 ¥ TP & 918 TP a9 WA USq U, Ble-Bie
RISl ST, maﬁwﬁsﬁ?wm@ﬁaﬁ@ﬁmwﬁﬁﬁmﬁﬁmwaﬁ@gﬁlwao—amﬁvh
He & el J Tord! A1 -3, W TR Vet g8 FHddl o ard eR-3 Tew w fiR-<R 59 Tl W @
ft | IRAT FETIAT AT 3R I YPTae F TG SUPT T g W TETe™ 947 8T ATl UR Y-S 99 31l 9¢ ¥
A}, AR A9 # TP 3reiia-wft AR St o1 36 <A1 3rF df g9 AT P P AP 8, Pt A 18 Hid I 3Ny,
Frar R o8 Hid 8, W S8 T 98 Sigfid Higd, 9§ W1g ol ST & a1 H AT SraT AT 3T 999 W TH
TEaRht A $71 T {6 FiR & goaa A 3= At A AR wigr 8, T it 7 a8l srrafad ahr forar ot iR
Tl 41 fr fgeoRds &1 sy S & €1 ghar 81 3 7Y, urdl, |, i Yax €, frg ga-1 U= & ayw ot 1Y
B 21 g0 Fi-T il 3ruAT =g 3o Sff | ored ft HA @ SR S-S P Aordte Srmar an, -t $rdd,
e 3Ry 3R 3 ® df &Y gUR A8 W, e 3MMaT| Y[a ot &1 741 ufafear & gurdt 379 vra=msi v, a8
Tee g1 8 uran, Fife 3 faaepd gu A1 G891 9 7 U 954 o1 Ais R iR erd W ge @l

THZaR &1 91ét & IR A oY St udanra 7, 39 W, [agpa Rrex wR, S1am! 1 gom g1 Siam! 3 golt iR
B oTe = &Y Il B 1 I & 313 WR TR 99 I3 | Biel-41, fagpa Ios1-ar mid 3R b &1 at &l 7
fr=m =8| faaea o7 T 9 @1 fae i@ 31 &1 sFETd 3T 99 A IaRT fob W8T o1 a8t uR @) gfd-ar we
ST 8T M| fraar SR Wed faaRT o1 Jra= @1 ardt #1 39 HIar 3 udaurer 3 oum od § U8 o deR
Pt 77 faht ard) four 336t 8, 39w fp=R ofik ger &) &Y ary #=a 817 | v Wia DSt gg urdl, 3R awHe Hre-l
U W, R e B RIATE Fred? 99 g aTd-ard %, e fFR Jibg-ahe TRl 3t $aR 3R 3IR-SR A
amamﬁmaﬁmﬁaﬁaﬁa%ﬁ-m?%ﬁlmﬁmuﬁm%ﬁéﬁaﬁmﬁw
FATs | dUe g, TG A T G| G g9 TP ga? A d a0 3¢ | a9 JPUR, AT ez, a1 Il

B 3R a1 frshde® 6 & 39 Rt WR @Y 3 IARSR, UTd To® 3 9¢-T1 TnfeT|

ITYE TR B UgHR 9 YD T YA BT IR qa13¢I
U A A U1 I fhas w1y e fear?

1. g S

2. Iy S

3. QM@AT ST

4. YA Sl

Correct Answer :-

15) SR T I Tl @ IRA BT YRT €Y 96 AT G URAR| W HA-Hd Bl g5 P, fFR & Ble-se
ez TTq 3R g¥ wawel! W | fHa Yo 8 WARaR &1 g1dt| 8 w| T & 91¢ U 99 WIH Usq ¥, Bie-sie
TSI STHEM, a1 B g R FUl-H 1l FRA a1 3ud ARA ard 7} e W 99 g¢ qa | -3l Jo el
s F sivral | Tord! At -2, FwR TR e gE Foddeh o ard seR- e R MR- a9 el o 7@t
2t | IRAT FETIAT AT 3R I YP1ae F qIG SUPT JeTa-A- g W TSTe™ a7 8T 411 UR Y-S 99 31} 9¢ &
A}, AR A9 # TP 3refia-wft AR Sl o1 3@ <1 3rE a9 g9 AT P F AP 8, Pt I 18 Hie I 3Ny,
S R o8 W 8, 1 ®i ma1 98 Srgfira Hied, a8 wTg St ST & IR 7 AT o1l AT 1 31 77 N TP
TEanht A $g71 T {6 sk & goaa A 3= it A AR wigr 8, I it 7 a8l srrafed ahr forar ot iR
FeT 4T ¥ fRaeords &1 mutg HArT A 8§ gar 21 3 7dY, a1, @, 9 Yer 8, fbg ga+i w=iar & ok ot 78)
g 81 59 FW-3 2 3o Wiz 3o oft A suad ft we @ SR S-Sl St Aokt STt T, -t o,



e Sy 3R 3fd H af &Y TR e} WR, A 3MTAT| Yo ot &1 @ ufafspar A gart 37 yra=nsit wr, a8
wree 8 81 uran, T 3 fAagpa gu A1 Tew1 59 7 TP 959 da1 As forar oiR erd W e aft

TR Ft U1t & IR | & St udauran 8, 39 W, fiaea Rew wR, S aar gom 31 St S gadt iR
fipY 2T = B STl 31 PR & 32 WR IR 9 31| BIel-1, Napd I9s1-91 7d 3R 9% &1 df ) 7
= 7Y | e ot 1T g9 @ fram =1 31 7| eFaTe 3¢ 99 | Sav fb wigt ot 98} R @ gfd-an Ty
ST 38T M| faraar R Wed faaRT o1 Jrmm @1 ardt #| 39 Har $ udaurer 3 oum id § 98 o degR
P 11 N ard} 5w 8 2, s9H =17 iR gar ) df a9 74 2| v W A1) gg urd, ¥ "aHe Sred
U W, R E FI RIATE Fred? 99 gU aTd-ar1d I, e fFR Jihg-ahe TR $ $aR 3R 3tR-SR A
Wermﬁmaﬁm?ﬁaﬁaﬁa%ﬁ-@ﬁqﬁvﬁlmﬁamuﬁmﬁ?sqaﬁaﬁﬁ%ﬁaﬁw
FATs B T g, 3T A O G| AHTATT g9 TP gaR A o Ia 3¢ | 3791 JPUR, 31 ez, a1 Jol

B 3R a1 s de 6 & 39 Rt WR @Y S IARSR, UTd Tio®: M 9¢-T1 Tnfeu|
ST TR B UgH 19 YD ¢ U BT IR qa13¢|

TR B! U & frewae Higd @) ITHR aad & 7§ 1 WA e

15T q PIS A

2.5 M AERA &1

3. Hicdured & &

4. S 3R, Uid Gioas AP dgad i

Correct Answer :-

16) dgd, ILSN--

O Y ORI, URTER S

T Fodal F-9 ITel,
Rega-sfa v #, #, Fashas amn

Ty o, qaa Hfaar

T a1 an-

q1eel, TSN

fawer fRAFd, 370 & 3774,

faeg & faqa & w&a I,

I AT o F Ieted F uall

aod &R, I ¥ T

ftaqer #T ar--

q1eel, TSN

T v geEmr F ggwt AT @ I qT WA FT 3ca] TABT
ues: §9 Ffadr &1 s 3cae F4r 82



1. 30F T

2. hael I BT THANT TP H A TI B

3. haet IHT A AgTT AR B FAG H gheT T B
4. el g W FAN Wt AR B

Correct Answer :-

o 3ULH FqA

17) ¥1gd, IS--

W W R P, YR

I FoqaT F-§ T,

Rega-sf 3T &, #R, washas a

a9y fur, qae Hfaar

T o7 -

q1eel, IR

e fAwd, 37a & 37A4,

g & g & a&d a9,

I AT R F IHeAed F Gl

acd T, I ¥ Y

ffqer #T ar--

a1, IR

e 71T ggzier #F wga AR @ I IS WA FT 3caR aqsvl
UeA: 39 FAdT A Hfd aigal & Fa AT &1 eaeT war 82
1. S &1

2. 3T &l

3. ST T

4, WA T

Correct Answer :-

o IRSAA BT



W BT 89X T, YRR S

I FoqaT F-4 T,

Rega-sft 3T &, #R, washas a

Ty o, qaa Hfaar

T a7 -

qIgel, TSN

fawe AFd, 3707 & 3774,

faeg & faqa & w&d I,

I AT o F eted F uall

aed o1, o § A

fiaer #T ar--

q1gel, TSN

T 71T ggzier #F wga R @ I 9T WA FT 3ca) Iqsvl
WA 39 Flaar A W PA-F @ s § T Ae-wied Ay 2
1. IS IR, GTaR

2.3 & IS AL

3. digel, IS ©R

4. f9gd ©fd, a9

Correct Answer :-

19) SEd, ISA--

B B UR 9, RN S

T Foedell F-9 ITel,
fega-sfy 3 #, R, Fasias ar
a9 &, e Hfaar

T o7 -

a1, TR

fawer fAFd, 370 & 3774,

g & @A F FFa I,



I AT e ¥ Ieed & ual

acd &I, o @

ffaer T an--

qree, IS

T v ez F ggF A @ S arer 9T FT 3T IqBv|
el Hid deal @ fFd deT T T T HY FegdT 82
1. frelt @ wfaar &r

2. fRdl & drgel Hr

3. fohdll Ad 3TThIr &

4.8 AT Hr

Correct Answer :-

. fpelt A% wfaar

20) srEd, ISN--

B B °R I, YR S

I FoqT F-§ T,

Rega-oft = &, R, Fachas aw

a9y o, qa Hfaar

T a7 -

1, IR

fwa @ed, 370 & 3704,

g & QAT F TFd I,

I AT @ F Ieted F uall

acd T, I ¥ Y

ffqer #T ar--

q1eel, IR

e 71T ggzir # wga AR @ T IS WA FT 3caR Iqs0l
weeT: FfF Fgar § fF § Q WA F W FT G- I64T =
1.5 q PIS A

2. % HYA I &

3.9% AT T §



4. I% HIT AT §
Correct Answer :-

. IE BYT TT §

21) dIGd, IRAN--

B B °R I, GRS

I FoUT F-§ T,

Rega-sfr = #, w3, Fashaa am

a9y B, e Hfaar

T o7 g

qTEe, IS

fwa @ed, 3700 T 3704,

e & g F g&d I,

I AT R F IeAed F Gl

acd &R, I ¥ Y

e & aqr--

a1, TR

T v gz Ft geE A @ I g 9T FT 3l qqsv|
e digel ¥ Rt 9% FRar 1 @ w1 3N 30 WA F FEH R & A FlT F§ W@ 82
1. fpame

2. 7Y

3. Bid

4. gz

Correct Answer :-

22) SEd, IRAN--
B B R P, YRR S

I FeqdT F-U 9Tel,



Rega-oft = &, R, Fashas aw

a9y T, e S

T o7 -

qred, IS

e fAwd, 37aa & 3774,

g & A & g a4,

I FAT e F 3eted F gl

e o1, oo @ A

e # aqr--

qred, IS

T v ez F geF A @ W arer 9T FT 3T IqBv|
ma:m-mgwﬁm#mmmgé%?
1. fopelt gachr &

2. TRl aTetep

3. fopdlT et r

4. fepdt ATfAepT Y

Correct Answer :-

. TopdT aTeld Y

23) dmEd, -

B B ORI, URET S
I FoqaT F-§ T,
Rega-oft = &, R, Fachas aw
a9y o, qae Hfaar
T a7 -

q1eel, IR

e @ed, 370 & 3704,
g & @A F gFd I,

I AT e | eted F uall
acd T, I ¥ Y
ffqer #T ar--



qIgel, TSN

T 71T ggzier # gga AR @ I IS WA FT 3ca) Iqsvl
WeeT: ‘AT AT G2 § Iedad & wor-q F41 aAead §7?
1. %% 3t & dger fOR 3w

2.3 @ PIg AL

3. 37514 IS I=AT

4, 31T &R S 3T

Correct Answer :-

. Ps A3t ¥ dea O 3w

24) 9Ed, IRN--

W BT R e, gRTER S

T Foedell F-9 ITel,

Rega-sfa v #, w1, Fashas amn

Ty &, qder Hfaar

T o7 -

qTed, IS

fawer fAFd, 370 & 3774,

g & @A F dFa I,

I AT o { Ieted F uall

acd e, ST §

ffder #T ar--

qTed, IS

T 71T ggzier #t gga AR @ I I WA FT 3ca) Iqsvl
yeet: fhad gag A fhell fa i TE el s ol §§ 77
1. &

2. fRETeT &

3. UT&h &

4. 916l &

Correct Answer :-



25) dIgd, IRAN--

W AT R T, YRR S

T Foedell F-9 ITel,

fagga-sft =T #, #f, agsias aw

a9y B, e Hfaar

T o7 g

qTed, IS

fAea Red, 37aa T 37A4,

g & AT &F FFa I,

I AT R F IeAed F °Al

aod T, I ¥ T

ffqer #T ar--

qred, IS

T v gz F ggE A @ I arer 9T FT 3l qqsvl
R T2F H IR tawarcAs waa Y1 @), A 9% F91 FEardr g2
1. a1e dHied

2. 3PN

3. e

4. ¥Uh

Correct Answer :-

. o ded

26) dgd, IR=IN--

¥ WY °R I, YRTER S

I FEUT F-§ T,

Rega-sfd 31 #, R, Fasias amw
a9y &, qder Hfaar

T o7 an--



a1, TSN

fawer fAFd, 370 & 3774,

faeg & faqa & w&d I,

I AT o F Ieted F uall

e o1, o § A

ffaer #T ar--

qIgel, TSN

T v geEier F ygHt AT @ I qT FoA FT 3ca} TABT
g2 Hfdar & ager fha-fher 31t Y 3R wha Far g7
1. PIS 3HAIE Tl

2. PIg AN feom & 3 i

3. ®IS JAdId T

4. 30 |

Correct Answer :-

. 3Ugh |

27) 9Ed, IR

W BT R T, URTER S

T Foedell F-9 ITel,
Rega-sfa v #, #, Fashas amn

Ty &, qder Hfaar

T o7 -

qTed, IS

fawer fa@d, 370e & 374,

faeg & faea & w&d I,

I AT o { Ieted F uall

acd e, ST §

ffder #T ar--

qTed, IS

T 71T ggzier # gga AR @ I I WA FT 3car Idsvl
WeeT: FI-HT 2req ‘3cHTE HT qAIQTdT 81 872



1. 3HIT
2. a9
3. Ser
4. 1Y

Correct Answer :-

. PIY

28) &, IRAN--

B BT 89X e, URER S

I FoqaT F-§ T,

Rega-sft 31 #, R, Fasias am

a9y fur, qae Hfaar

BT a1 an--

qred, IS

e @ed, 370 & 3704,

g & g & a&d a9,

I AT e & Ieted F uall

e o1, I @

ffqer #T ar--

qred, IS

e 71T ggzier # wga AR @ I IS R FT 3car adsvl
yee: FY da ¥ FER, RAfPe a1 wa § e W Rew F fav wwar 8, 74
1. i hael RATHHA AT FER A A A& Telam

2. U1l & ST TR

3. IRSIA T 3TATHAT &

4, IRSTAT TR &, SRIAT AT

Correct Answer :-

+ ity et RS a1 Ger ¥ B & To

29) dIgd, IRAN--



W 8T 89X e, YRR S

I FeUsT F-H T,
Rega-oft = &, R, Faciad aw

a9y o, qaa Hfaar

Y a1 an-

qIgel, TSN

fawe fAFd, 370 & 3774,

faeg & faqa & w&d I,

I AT o F eted F uall

aed o1, I § A

ffaer #T ar--

q1gel, TSN

T 71T ggzier # wga R @ I 9T WA FT 3ca) Iqsvl
geeT: HfF Y aigat 1 WAr F FAT q@ar §?

1. Uh HIeldT

2. U AYIAT
3. U& alerd!

4. Uk AT

Correct Answer :-

o Uh AdAAT

30) dgd, IRSAN--

B B uR 9, RN S

T Foedell F-9 T,
Rega-sfa v #, w1, Fashas amn
Ty &, qder Hfaar

T o7 -

qTed, IS

R e, 370 & 3707,

faeg & faea & w&a I,



I AT e ¥ Ieed & ual

acd &I, o @

ffaer T an--

qree, IS

T v ez F ggF A @ S arer 9T FT 3T IqBv|
weT: fRg & Q™ & wad oo FA w1 4T §7?
1. 348 @ fpel &1 et

2. 9TRQT | deTeT STl

3. 9T @ dgrel eI @l

4. 37T | dgrel Sl A

Correct Answer :-

o IHT @ dE Sl P

Topic:- General Urdu(L2GU)

1) -
I
. = L

, ;_,deﬁ

. = (¥

Correct Answer :-

2)



, Sid

; 9 d

le*i,plz‘“l

4,
Correct Answer :-

. SEVidl

. JBy”

Correct Answer :-

. ;I}Tu)':)_f

4) . - i
Lainl,i..T.J:JL,P
1 *’grji

4 2L

Correct Answer :-



5

) e pe
B Lo L L v 5 s s

1 éa._jj,?

5 e

F A -
g T

3

I 7
4.

Correct Answer :-
v

Gl ~
(
2

3. Cf;ﬁ

"
. U

Correct Answer :-

7) -l . - ol * (o] *
L e T N Sag SUn U Z JIBIISE T 557 0560



rie
4, JY

Correct Answer :-

8) &9
- ‘UL
| ~rlis

D g ekl GO0 L FE AL
1. L

ey



Correct Answer :-

Py
4,

Correct Answer :-



12)

&
o . ' e
.r:_f._)’f’”Jﬂ,u;J
elbn G otup S 33

o A== R VA

4.



16) .
< CaSB

aisls

1.

28



Correct Answer :-

.l

LS G
LediF

5 ZI.K:'L}LJ;
LediEK

L #28

Correct Answer :-

. L/;:'L:;LJJ

.
N u

o
3 u

Correct Answer :-

Lo

19)
%—-LJ]JJK‘{: s



-

T

, = JF

ey

3.

, =/

Correct Answer :-

_ Lﬂ_ﬁ";;
20) 47 s 2 5 el 2 d (&
Uéﬁj f;jlf;j/-’é,..:.fglj;{ﬁu“ JU}}”JLLF')(&LUYEU: v U
u:gff;«*mdui.@
P
2. v
3 20

N

Correct Answer :-
. Ll

, BIUbaie

;J{;“-@L};_f%;

3.



. Lpt‘.'j{,_,fh;u)f’".!z?

Correct Answer :-

22) "y
< LA
i
=
- 41‘-!| I bob

23) Lo - .
u:.k(fgukf"wk}:.f?ﬂ

Ui
v
;. )

LRI

Correct Answer :-



24) o

:j—u*f-g JJ::*;;“

§ fufufjfif
N .:L,Fl.rfu}f
, A
T
Lk %/

4.

Correct Answer :-

. .:L}l.ﬂ’l;/'rg



Ed
-
A L

2.
Y

r"lulr' 127 8 4
4,

Correct Answer :-

yrae

l-, .
. b
28
) o Jier
. I
e
2. &

y.
3. oy



4

Correct Answer :-

29 o - .
) L).?g-u{'f?_.fﬂi}ilf’u,ul..ﬂl%:,ua_ﬁjf’u

1. l"‘;/:;"'jj'?

-

) - F’ - N - - -
u_?g.f:xmdug.nfdéﬁjr Lowlg Iz

30

k4

rl’
VEL
1, -



Topic:- Sanskrit (SAN)
1) v v
R[S, FeRET9E T -
-
1. RRIC| U
-
, HAdH |
-
; J&ATd™ |
™,
, SHATaH |

Correct Answer :-

-,

 9&91a |

2)

e idHde Faga-

AN |
e94NdH,
1.

A |
AR |
, TEARaH. |

Correct Answer :-




|

[ =
131"<TIH=|
LA Y
:
2.



qreh: |

4.

Correct Answer :-

6)

g’ AR 96 984 e ?
g |

2. |

, |

, T |

Correct Answer :-



Y ATRTRCTRIwh: =4 -

Ve 5 UHd: & ?
<+ |

1.

N Thdq |

3] |

T |
4,

Correct Answer :-

Tty s oA R 2
_$e: I |

Fe: : T 4: |

2



, e W TH(G: |

.
\ e W 44 9 |
Correct Answer :-

S G |

11) = - -~
‘A TR | S SRS & ?

T
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